


Instructions :{'
() Al ‘questions are compulsory to solve. : "
(ii) Question Nos. 1 to 5 are objective type questions. Each objective qu
carries 01 mark. Marks of each question are given before the question.

(1ii) Questlon Nos. 6 to 15, each question 02 marks, word limit 30 words.
(iv) Question Nos. 16 to 19, each question 03 marks, word limit 75 words.
(V) Question Nos. 20 to 23, each question 04 marks, word limit 120 words
(vi) Question No. 6 to 23 have internal options.

(vii) Thére is no limit of words in numerical questions.
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Choose the correct option

(i) In the
absence of partnership deed, interest on partner's capital is

allowed -
(@) 6% (b) 10%
(©) 12% (d) Not allowed

(i) The ratio in which old partners agree to sacrifice in favour of new
partner is called -

(a) Ggining ratio (b) Sacrificing ratio
(¢) New profit-loss ratio (d) Old profit-loss ratio

2892
(ili)) A, B and C are partners in the ratio of e 1 PE B retires. The new

proﬁt-ldss sharing ratio will be -

(@& 2:2 (b) e
(@) AR (d) =]
(iv) On retirement / death of a partner, his capital account will be credited
with -
(a) gobdwill of the firm (b) remaining partners' share of goodwill

(c)" his 'share of goodwill (d) old goodwill
‘(v) Interest i‘éte on calls on arrears on shares must not exceed -
(a) 10% (b) 5%
(©) 6% (d)12%
(vi) The profit on re-issue of forfeited shares is transferred to -
(a) Geqferal Reserve
(b) Capital Reserve

V(C) Cap1tal Redemption Reserve

(d) Proﬁt & Loss Account
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Fill in the blanks :
(1) — account is also prepared in Fixed Capltal Method

(i1) Change in profit-loss ratio of partners resultinthe _____ of

partnershlp firm.

(1i1) Ln the absence of any information, the existing partners W111 acqulre

retlrlng/deceased partner's share in ratio.

(iv) The shares of ______ company are transferrable |

(V) 'Cash' includes cash and

(vi) An increase in accrued income during the partlcular year 1s

_ the net profit. aa
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Write answer in one word / sentence.
(i) The excess of actual profit over normal profit is called -

(ii) The part of share capital which is called at the t1me of winding

up of ‘a company is called -
(iii) Which type of shares are given priority in the payment of dividend?
(iv) Capital Reserve is created out of which type of proﬁtf,

(V) Every company shall prepare its Balance Sheet accordm

g to whj
schedule of the Company Act, 20132 ik

(vi) Which ratios are primarily measures of return?

(vil) Cash 'paid to acquire fixed assets is which IYPe of aog;
Clivity?
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Write any two differences between Fixed Capital Method an
Capital Method.,

: siyar / OR
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Sonu withdraws ¥ 5,000 at the beginning of each month. The rate of
interest on drawings is 10% p.a. Calculate interest on drawings

8 & W ¥ 3:4:2 % qud ¥ 9EER ¥ ¥ Yatga &l gl 2
3 qUT G B ww—'z:rﬁr AT 5:3 ¥ WA AU B TIET DT |
AleBrand € are?iﬁ}artners in the ratio of 3 :4:2. B retires. The new
profit-loss sharing ratio of A and C is 5 : 3. Calculate gaining ratio.
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P, Q and R are jpartners in the ratio of 5 : 4 : 3. Q retires and i
share is acquired by P and R equally. Find new profit-loss sharing ratio
ofi R and = R" :
o e
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Explain Dlssolut1o_p of Firm by Notice.
: s / OR
W % st fren @ B @ afRafr ffa,

Write any two conditions for the compulsory dissolution £
' OI the firm
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Explain any two objects of 'Financial Statements' of company.
sy / OR
‘ﬁ?ﬁw"%am’ﬁw&r%saﬁgaﬁgﬁrﬁgm

Write ‘any two points of nature of 'Financial Statements'.

14 fad & ogua @ &7
What is Net Profit Ratio? |
s / OR o
Frafifas & o oro @ o B

& orfafas 2 20,000; Y T 15,000, oeq =g T 10,000; Etrrﬁﬁ?r Mg
< 5.000; zefear X 5,000; gdem =@ T 5,000.

| S

Calculgtﬁ Current Ratio from the following :

Bank ¢verdraft ¥ 20,000; Cash ¥ 15,000; Outstanding expenses 2 10,000
Accmei;lj income I 5,000; Stock T 5,000; Prepaid expenses% 5.000

88
15 bs yare faaro q@r 37
Whatimis Cash Flow Statement?
(I s / OR ’
ELCE] ;IEH'&' oo & #2 @ sRew forfam |

Write?..éfny two objects of Cash Flow Statement.
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16 A dur B, 3:2 & U & 9EER £ | 31 A, 2015 & @< B
I 99 o fagr e R

- =

HIDE| st | Jatar EUEL
ECINE G 20,000
20,000 | & 16,000

B 15,000 | 3= 15,000
qH= H9g 15,000 | Treps 500
KREAEY 7,500 | ¥ 6,000
57,500 57,500

31 #H, 2015#B@mﬁ3ﬂ@m%lsﬁﬁﬂ%:

(1) qsﬁﬁaﬁrw‘cﬂ 71% quT Vi &1 Jedihd IS%W%WI
(2) IS 9T 5% ma%m AT
(3) AR, T 2% WIEEE ST
A and B -are partners in the ratio of 3 : 2. Their Balance Sﬁeet on
31st March, 2015 is as under.

% Balance Sheet

Liabilities Amt. | Assets Amt.
Capitals ;- Machine 20,000
N 20,000 | Stock 16,000

B \ 15,000 | Debtors 15,000
General RjeserV(: 15,000 | Cash 500
Credior 7.500 | Bank 6,000
57,500 ! ’57,500
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% 22,500 d %9 78 201 o, q o @ @) gl B ?120000 T 75,000
T X 60,000 o gt w e 2 F g wH A A T 1,19.250 %"
ATH—&T | H‘Tﬂﬂ\_rﬁ Qrdl, 9134 |

A, B and C are partners in a firm in the ratio of 5:3:2- A personally
guaranteed C that his share of profit, after providing interest on capital
@ 10% p.a., would not be less than T 22,500. The capit?ls of A, B
and C Wére < 1,20,000, T 75,000 and T 60,000. The profit Q’f the firm
before pfoviding interest on capital is ¥ 1,19,250. =

Prepare Profit & Loss Appropriatidn Account.

21 ®H & gTfed BN @ uR uRRyftwEt gusme) E

Explain four circumstances when a firm is reconstituted.
L sya / OR
QET U T 9iitd 3 § #1E 9 8iay faRau

Write ahy four differences between Sacrificing ratio and Gaihing ratio.

22 X Y2 lasaquraﬁﬂlﬁm%I%ZaﬁIM%ma;ﬁmgaﬂaﬁ 4
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@ T e &ed 1
AEYTh S Frafear it |
X and Y are partners in the ratio of 2 : | They admit 7 for 1/6 share

who brihgs X 30,000 as capital and ¥ 9,000 for goodwﬂl in cash.
X and Y withdraw their share of goodwill.

Give necessary journal entries.

S¥a / OR
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A company issued 25,000 equity shares of ¥ 10 each on;which the

amount was payable as follows :
Application - ¥ 2, Allotment - ¥ 4 and 15t & final call - 4.

Application. money received for 30,000 shares. The excess amount

received on application will be adjusted in allotment.

Give journal entries in the books of the company.
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